RAL 1002

RAL 1000

ChMYE 10 10 50 10 CMYK 0 2 5 20

RAL 1005
CMYK 10 30 100 O

RAL 1013

CMYK 0 5 & 10 CMYKE 0 10 40 10

£
g

RAL 1026

CMYE 0 010 @

2
&8

CMYK 0 30 81 0

ChYE 0

40 a0

CMYH

0O 51 o

CMYE

L B I L

RAL 1007
CMYK 0 40 100 0
RAL 1015
CMYK 0 5 30 10

5

§ 30 40

2
S

5

0 0 30 40

5

40 100 0

£
g

5

T 0

RAL 1011
CMYK 30 40 T

RAL 1016
CMY< 10 0 80 0

0 CMYE 10 10 %1 0

RAL 1023
cMYK 0 10 90 9







RAL 5004
CMYK 90

-4
=
E

RAL 5014

[
=
a
=

S0

e
[=]
.
L=

EI
g

RAL 6000
CMYK 80 20 80 20

EI
=

RAL 6005

CMYE 100 B0 30 E

:EI
&
gI
g
e

RAL 6010

CMYK 70 10 80 40

EI
2
gI
S
=J

RAL 6015

CMYK 80 &1 W0 40

RAL 6020

ChMYK 80 60 &) 2

rgI
=

(]
=
o
=
o=
=1
L]
&

100

RAL 5015
CMYK 100 30 0 10

RAL 5021
CMYK 100 20 50 10

RAL 6001
CMYK 90 30 80 10

CMYE 8

=z
=]
=

]

MY

~
=
=
tn

:

100

L
[=]
(5]
[=]
s}

RAL 6021
CMYK 5 10 50 10

EI
2
EI
&
[
EI
=

CMYE 100 B0 40

]
b=

EI
z
EI
=
rgI
2

00 2

o
I
[=1

CMYH

RAL 5022

100 100 40

£
L)

CMYH

g1 40 a0

o
=
-
=,
=

[}
=
-
-

gl 30 @&n

[~}
Lo

]
=
=
-

1000 &0 100

=

]
=
=
-

Bo 20 100

"y
[=]

80 1m0 20

2
=
£
=
2
=

2
=
£
=
&
=

CMYH 80 40 10 20

CMY® B0 &0 &) 20

CuYs, 70 A0 T @&l

IgiI
=
e

CMYK 40 20 61 40

CMY®K 70 0 490 O

CMY 80 10 B0 10

CMYK 100

[=r]
=
=]
=

CHMYE 100

(1)
=
(%]
=3
=k
L=}

:EI
B
i =

!'.__:l
—
>
=
=k
o]
=

T

CMYE 100 50 &0 40

RAL 6009

CMYE 3

=
E
=

[
==
=
2@
@
=
@

RAL 6025

CMYK &1 30 80 10



gI
5

RAL 6026 RAL BT
CMYK 100 30 70 40 CMYK B0 0 30 0 CMYK 100 60 100

RAL 6032
CMYK 100 20 100 5  CMYK 90 10 80 0

b=

£
gI

RAL 6033
CMYK 80 20 50 0

CMYE

810 5 4 CMY® 10 0 0 40 CMYK 3 3

=
&

=
gI

RAL 7003
CMYK 30 20 40 40 CMYK 0 0 0 45

ZE
5

Wowmo 20 60

[#]
=
-
F
=

4

=
&

gI
=,
L2

RAL 7008
CMYK 20

RAL T35

RAL T012
40 10 20 80 CMYK M 0 10 80

=
&
=
o

CMYK 2 5 3 &

[#]
=
-
F

1010

&
=

ie
S

g

40

_.
=
=
=

CMYK &) 1 0 @&l #0105 B85 CMYK 30

Fud
=]
&
[}
=]

ChMYE 20 20 40 40

ﬁl
&

CMYK 80 &0 50 40

)

MYK 60 20 30 & CMYK 20 10 20 40

2
=
=
5

CMYHE 0

=
=
&

gI
&
5

£
&

CMYK 30 10 3 40

)

MY B 5 40 40

[}
=
=
-

E 0 5 A CMYE 10 10 10 40

]
=
=
@
3
=
=

RAL 7038

CMYK 30 10 20 2

RAL 7042

MYE 50 40 50 40 CMYK 20 5 10 40 CMYK 30 10 20 40 CMYK 30 10 20 &l

Y



ChYk 0 0 15 3

rgI
g

ChYR 40 B0 20 10

RAL 8008
CMYK 50 80 0 20

RAL 8016
CMYK 40 80 80 &

£
gI

FAL 7045
CMYE 20 10 10 40

gI
g

2
g

RAL 8002
CMYK 60 B0 8D 10

RAL 8011
CMYK 10 &0 100 40

RAL 817
CMYK B0 B RO B

gI
5

CMYE 30 Bl TO 40

RAL 9003

CMYRK oo 0 a

CMYE 40 B0 &0 40

gI
5

CMYH 100 90 100 &0

RAL 9011

CMYH 100 100 100 80

(]
=
=
=5

o 0

e
L]

CMY®E 50 70 &0

—
L]

EI
=
gI
=
E=N

CMYE 3100 100

]
b=

EI
=
=
S

CMYR 80 30 &0

(=]
L]

CMYR 2 a0 70

-}
L}

CMYK 100 100 100

w0
En

2
=

£
=

40 &b &) 10

Cye 30 &0 100

2

CMYR 100 100 &80 95

CMYR

100 80 100 485

RAL 8015

CMYR 1]

RAL 9002

5 0 10 10

&3
=
=
=

CMYK 10 O 10 20



